[ Efficiency vs vertpos |

= 0.5
£0.09
4
2.0.08
2
©0.07
=]

5 0.06
0.05
0.04
0.03
0.02

0.01

10 0?
TP vertr (cr%)

[ fake+duplicates vs vert r

0.8

0.6

fake+duplicates vs. r

0.4

0.2

1— ---------- e abtl

..............................

APETTY BRI BRI
o O ; :
b= [
[ARE: SEEEPEREPRE ERRE: o | R PP EEEEPEPEEE PEPPEPRRREN

—ehoC

11111

teds

'cggﬁégi“

%%igﬁ TRORSLTLIER2 1000evt

||n{vcuu| 1660evt

~ 0.1
$0.09
2]
£0.08
>
2
50.07
£0.06
(]
0.05
0.04
0.03
0.02)
0.01

..........

..............................

10

20 30
TP vert z (cm)

N~ 0.
>
20.09
£
=0.08
20.07
Py
£0.06
(&}
£0.05
(]
0.04
0.03
0.02)
0.0
10

Ratio

h!

0.8f

-20 =15 -10 -5

05

10 15 20
Sim. PV z (cm)

z
o
o

0.5

fake+duplicates vs.

) SO
0.3

0.2

0.1

TTTTTT

Ratio
=
N

e
TTTTTT

-10

0 10 20
track ref. point z (cm)

[ fake+duplicates vs Sim. PV z |

0.8

0.7

0.6

0.5

0.4

0.3

0.2

fake+duplicates rate vs Sim. PV z

0.1

Ratio

15 20

10
Sim. PV z (cm)



	Contents
	Page 1


